St Denys Primary School

Spellings and Times Tables

Week beginning:
th
\ 8™ June 2020 /

Creativity, Choice, Challenge
Achievement for All




Week 2 Spellings

Each week you will have 10 new spelling words - with a choice of 2 levels.

Some of the 10 spellings will help you investigate and learn a spelling pattern.

Others will be from our Year 4 spelling mat or are common exception words.

We suggest a structure like this for the week, based on 10-15 minutes’ practice per day:

Session
1

Choose your spelling level for this week, or which spellings you are going
to 'mix and match' (be honest about which one will be the right challenge
for you). Get someone to test you and work out which ones from the list
you will really need to focus on (remember to aim to learn about 5
spellings a week).

Session
2

Complete Look, Cover, Write, Check for your focus spellings (5-8 words
you chose yesterday).

Investigate the spelling pattern with Activity sheet 1.

Session
3

Write your focus spellings in sentences to show you understand what
they mean.

Session
5

Test! Ask someone fo test you on your spelling words. How many did you
learn this week?

You could also use Activity sheet 2 to investigate the spelling pattern
further.

Level 1 Level 2
eight veil
they neigh
grey survey

weigh league

neighbour unique
their scientist
there catalogue
beige adolescent
rein therefore
rain through




Look, Say, Cover, Write and Check!

Tick the columns as you follow the instructions from left to right. Make sure you spell the words in
the “write’ column. If you spell the word incorrectly, write it again in the correction column.

look |[say |cover | write check | correction

Look, Say, Cover, Write and Check!

Tick the columns as you follow the instructions from left to right. Make sure you spell the words in
the ‘write’ column. If you spell the word incorrectly, write it again in the correction column,

look |say | cover | write check | correction




Activity Sheet
Term 3 Set 1 Week 1

e 1 1= P

Words that sound like they are spelt
ay are sometimes spelt ei, eigh or ey.

N

neigh beige convey sheikh
surveyor veil sleigh  conveyor
neighbour  reign eighteen  survey

I'm collecting I'm collecting I'm collecting
all el words. all eigh words. all ey words.

Some words sound like they end in g, but are spelt gue.
Some words sound like they end in Kk, but are spelt que.

Add -gue to " Add -que to
my set of words. é my set of words.
/4 11 /4

{ Rkl
lea anti
pla. uni
ro che
ton......... mos.....
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Activity Sheet

i

Term 3 Set 1 Week 2

&)

" Use the words in the box to complete the

X sentences below.

rogue conveyor reigning league
eighteen  cheque tongue antique

I'mthe ............... .
champion and top goal scorer.

~——_ lamina...................... ﬂfmyc:wn!j
—— You're a cheeky ........ ...,gaungmﬂn.j

...... .. out at me.

My dad bought an old picture
froman ............ ... shop.

The ................... was made out
for two hundred pounds.

The food went along the .................
belt to the checkout operator.

My mum had topay ...... J

.Il.i l_l o il
- pounds for the shopping.

SPELLING YEAR 4

£ Copyright HeadStart Primary Lid



Name: Week 1 Session 1
Times Tables 6,9 2019-20
. 6x and 9 x tables Week 2
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 6x7= 21 6x7= 41 2X6=
2 6x5= 22 9% 6= 42 6% 6= Time taken
3 9x12= 23 6X1= 43 8% 6=
- R 3 minute time limit &
4 9x2= 24 6x9= 44 2x9=
- EE— Score
> 6x8= 25 9x3= 45 11x9=
6 9x11l= 26 6x4= 46 9x9= 60
7 6Xx9= 27 9x9= 47 8% 6=
- E— What's your rock status?
8 9x8= 28 6x1= 48 2x6=
\WANNABE
9 9x 4= 29 9x 11 = 49 10 X 6 = < 18 correct in 3 mins
[ - R ) ALE DA —
10 6X6= 30 6 x4= 50 6 x9= 18-19 correct in 3 mins
BUSKER
il 9x7= 31 6X6= 51 4%X6= 20-21 correct in 3 mins
T KR
12 6x8= 32 9x9-= 52 10 X 9 = 22-24 correct in 3 mins
UKD A
13 6X5= 33 12x9= 53 6 X 6= 25-29 correct in 3 mins
T BRUAKTHROUGH ARTIST
14 6X6= 34 12X 6= 54 12 X 6 = 30-35 correct in 3 mins
15 9x1= 35 10 X 6 = 55 7x6= 36-44 correct in 3 mins
HEADUNER
16 6x1= 36 6X9= 56 6xX9= 45-59 correct in 3 mins
- - T RodisTAR
17 9x5= 37 4x9= 57 8x 9= All correct in < 3mins
ROk LEGEND
18 6x5= 38 9% 6= 58 12 X 6 = All correct in < 2min
Ro<k HERO
19 9x3= 39 2X6= 59 2X6= All correct in < 1 min
20 6 x 10 = 40 12x6= 60 9x6=
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Name: Week 1 Session 2

Times Tables 6,9 2013-20
. 6x and 9 x tables Week 2
Rock Stars Times Tables = 2 week
Licensed to St Denys Primary School
1 9 13 6 25 9 37 6 49 9
X 9 x 10 X 12 X 8 X 4
- Time taken
2 9 14 6 26 9 38 6 50 9
X 2 x 11 X1 X 12 X 6
3 minute time limit &
3 9 15 6 27 9 39 9 51 9 Score
X 2 X 3 X 4 X 9 X 3
4 6 16 6 28 9 40 6 52 9 60
X 12 X 9 x 1 x5 X 9
What's your rock status?
5 9 17 9 29 9 41 9 53 6
x 12 X 4 X 2 X 5 X3
< 18 correct in 3 mins
6 9 18 9 30 6 42 9 54 9 2 ABACE BadkFD
X7 X 5 x 11 X7 x 11 CARAGE RO Iﬁ‘Eﬁ
18-19 correct in 3 mins
BUSKER
7 9 19 6 31 6 43 6 55 6 20-21 correct in 3 mins
X 6 X 5 X 12 X 12 X 5 «/«“%
- 22-24 correct in 3 mins
8 9 20 6 32 6 44 9 56 6 UW“N}W AT
X 2 X 6 X5 X1 X 4 25-29 correct in 3 mins
BRIAKTHROUGH ARTIST
30-35 correct in 3 mins
9 9 21 9 33 9 45 6 57 9 SIDDADT AdT
X 5 x 1 X 2 X 4 x5 7U|TI'
36-44 correct in 3 mins
- - - HEADUINER
10 9 22 9 34 9 46 9 58 9 45-59 correct in 3 mins
X 6 x 11 X 2 x5 X 6 Adle 2T A
o<k #TAR
[ - - . All correct in < 3mins
1 6 23 6 35 6 47 9 59 9 Ko<l LEGEND
X 2 X 7 X 4 X1 X 7 All correct in < 2min
All correct in < 1 min
12 9 24 6 36 6 48 9 60 9 S
X 6 x 10 X 9 X 3 X 7 TUMES TABLES
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Name: Week 1 Session 3
Times Tables 6,9 2019-20
. 6x and 9 x tables Week 2
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 6x4= 21 9x7= 41 9x9=
2 6x2= 22 9x8= 42 11 X 6 = Time taken
3 6Xx7= 23 6x12= 43 4x6=
- - 3 minute time limit &
4 I9x1= 24 9x5= 44 1x9=
- E— Score
5 9x12= 25 9x6= 45 3x6=
6 6x 6= 26 9x1l= 46  10x9= 60
7 6x4= 27 6x12= 47 4X6=
- E— What's your rock status?
8 6x1= 28 6x1= 48 2x9=
9 6x11= 29 9x%x9-= 49 8x 6= < 18 correct in 3 mins
[ - R ) ALE DA —
GARAGE ROKER
10 6 x11= 30 6x9= 50 6 x9= 18-19 correct in 3 mins
11 9Xx6= 31 3%x9= 51 3X6= 20-21 correct in 3 mins
T KR
12 6x5= 32 7X6= 52 7%x9= 22-24 correct in 3 mins
- S U A
13 9x8= 33 2x9= 53 2% 6= 25-29 correct in 3 mins
BRUAKTHROUGH ARTIZT
14 6x2= 34 12 x 9 = 54 7x9= 30-35 correct in 3 mins
15 9x2= 35 4%X6= 55 1x6= 36-44 correct in 3 mins
HEADUINER
16 6x4= 36 10 X 6 = 56 12 X9 = 45-59 correct in 3 mins
- - T RodisTAR
17 9x5= 37 10 x 9 = 57 11 x 9 = All correct in < 3mins
o<k LEGEND
18 6x3= 38 6%x9= 58 12 x9 = All correct in < 2min
ROk HERO
19 6X2= 39 5x9= 59 8X6= All correct in = 1 min
20 9x10= 40 5%X6= 60 5% 6=

©Maths Circle Ltd 2020



Name: Week 1 Session 4

Times Tables 6,9 2019-20
. 6x and 9 x tables Week 2
Rock Stars Times Tables = 2 week
Licensed to St Denys Primary School
1 9 13 6 25 9 37 9 49 9
x 1 X 4 X5 X 9 X 2
- Time taken
2 6 14 6 26 6 38 6 50 6
X 12 x 10 X 4 X 9 x 11
3 minute time limit &
3 6 15 9 27 9 39 6 51 9 Score
x 11 X 9 X1 X 12 X 5
4 6 16 9 28 6 40 9 52 6 60
X 12 x 10 X 12 X 12 X 5
What's your rock status?
5 9 17 6 29 6 41 6 53 6
x 12 x 1 X 6 x 11 X9
< 18 correct in 3 mins
6 9 18 9 30 6 42 6 54 6 2 ABACE BadkFD
X7 X 5 X 8 X 12 X1 CARASE {O Iﬁ‘Eﬁ
18-19 correct in 3 mins
7 6 19 9 31 9 43 9 55 9 20-21 correct in 3 mins
X 6 X 5 X 3 x 11 X 4 «/«“%
- 22-24 correct in 3 mins
g 9 20 9 2 9 44 6 56 9 UNHAGNED A1
X 4 X 4 X 3 X 7 X1 25-29 correct in 3 mins
BRIARTHROUSH ARTIZT
30-35 correct in 3 mins
9 9 21 6 33 6 45 9 57 6 SIDDADT AdT
x 7 x 8 X 8 X 4 x 4 7U|TI'
36-44 correct in 3 mins
- - - 7 HEADUINER
10 9 22 6 34 9 46 9 58 6 45-59 correct in 3 mins
x 1 x 12 x 7 x 12 X 6 Al LAl
o<k #TAR
[ - - . All correct in < 3mins
1 6 23 6 35 9 47 9 59 9 Ko<l LEGEND
X 6 X 3 X 3 X 12 X 2 All correct in < 2min
All correct in < 1 min
12 9 24 9 36 6 48 6 60 9 S
X 4 X 8 X 4 X 8 X 8 TUMES TABLES

©Maths Circle Ltd 2020



Name:

Times Tables
Rock Stars

Times Tables

6,9

Week 1 Session 5
2019-20

6x and 9 x tables Week 2
5 a week

Licensed to St Denys Primary School

1

10

11

12

13

14

15

16

17

18

19

20

9x9=

6XxX8=

9x 3=

9x 7=

6x1=

9x12=

6xXx9=

6X6=

6x7=

6X6=

6x1=

6x9=

9x 8=

6x11=

9X6=

I9x1=

9x10=

6 x 10 =

6X6=

6x3=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

O9x 7=

6xXx9=

6 xX5=

6Xx9=

6x8=

9x9=

6 X 8=

6x1=

9x11=

6XxX2=

5%X6=

10 x 6 =

2X6=

12x9=

4x9=

4x9=

12 x6 =

5%x6=

8x9=

2X9=

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

©Maths Circle Ltd 2020

6x9=

8x6=

12 x9=

9Xx6=

4X6=

2X6=

8x9-=

7X6=

11x6=

9x9=

6 X6=

1x6=

4X6=

3X6=

12 x 6=

5x6=

2X9=

11 x9 =

1x9=

1x6=

Time taken

3 minute time limit &

Score

60

Add up your time

Mins
S1
S2
S3
S4
S5

Total

Secs
S1
S2
S3
sS4
S5

Total

Add up your score
S1
S2
S3
S4
S5

Total
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